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3. Electrical Forces obey Newton's 3'd Law

with Ftz = forcl ir"i,i * nr,
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By Newton's 3'd Law, Ftz = Fzr

4' EXAMPLE: consider three charges *Qt, -q, and +q, locate{

(0,") and (o,o) respectively. Given that Qr = 5.00kC, q,

4: = 5.001tc and a:0.100 m, find the magnitude and direction

the *x axis) of 4, the resultant force on + q3.
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Equation l: Fr= (4, sind - Frr)i * Ftscosl i ,+**; (f '

Equation 2z F,, = k,QtQr l rf, = k,qrq, l rrf:8.q9 x toe(5 I to-6 {s x to-6 ) - lr.2Nz(o.r)'�

Due to charge (+ or -


